Scale:

1172.4432 g. 1:5

Mass:

SHEET3 OF 3

Material:  gtainless steel AISI 316
Polished, electric blue

199* P70 : 3)
/— P—] N
> <
4 “
*
O} {O 1O
- - - = - - - ™
\__/ \__/ °
|/
° [ <mm°
17.5* p_-| Q (12: 15)
83*
-0(2:3
35*-55*
7
é
O4( 4 ! - A 1
|
// iLn / I/ ﬂ_JI
s L
™
(o}
- 48* 48*
N/
ITEM NO. PART NUMBER DESCRIPTION Painted parts QTY.
1 D 8139 Lever handle 35L left D 1 O
2 D 8138 Lever handle 35L right D 1
3 D 8136 Snap on cover @70 mm D 2
4 D 8328 Base rose @67.5 w/ball bearing 2
5 D 8135 Insert w/M16x1 thread 2 1. * Information dimension.
6 14.9704.74.018 Bushing for sectioned bolt, M4 2 2. Parts marked in green should be painted. If painting needed;.
7 14.9701.02.196 Machine screw M4 x 16 D 2 Subject:
8 14.9701.02.019 Grub screw M5 x 8.3 mm 2 Fat lever handle
9 14.2810.92.092 Spindle 8 x 8 x 92 mm 1 8x8, @70 cc30-38, 33-59
10 14.9704.74.065 Sectioned bolt, M4 x 75mm. 2 Category: Hardware
11 D 7732 Wood screw 4.2x12 Zn DIN7983 4 s AVE oot retonce: AVE
12 D 8407 O-ring @19 mm. 4 Date:  7/17/2019 Release date:
13 D 7757 Plastic insert for levers cc30 1 'I?Lrgegrseiev?ngiitg?ﬁétg:z;wfbioclilclm: aD/EIIaSr% izgggt-IE)Kbe copied or shown to third parties.

Drawing no.:

17.9007.F1.001




	17.9007.F1.001
	Drawing View15
	Section View O-O
	Section View P-P
	Drawing View19
	Drawing View20
	Detail View Q (12 : 15)


